VGM MF-X%3%1

MERRE

it
1=

et =15 4 ]
SERLE®

L1
L2
L3:

AR
K : HigiE

S ERMECEH)

MF-X NHAERFSE R (AEER D AR IR EE)
FRREL
y3kThER ﬁ%%ﬁﬂ 3 4 5 7 10 15 20 25 30 35 40 50 70 100
100W MF60X . o D o . o . . . . . .
200W MF60X . . . . . . . 3 . 3
MF90X 3 . . . . . . . . . . .
400W MF60X . . . . . . . 3
MF90X 3 . . . . . . . . .
500W MF120X o . o . o . . . . o . . . o
750W MF90X . o . o . o . o
1.0KW MF120X . . ° 3 . . . . ) 3 . 3
1.5KW MF120X . 3 . . . . . . ° .
MF150X . . . . . . . . . 3 . 3 . .
2.0KW MF150X . 3 . . . . . . . . . . .
MF180X . . . . . . . . . 3 . 3 . .
3.5KW MF150X . 3 . . . . . . ° . .
MF180X . . . . . . . . . 3 . . . .
5.0k MF150X o . . . o . o o
MF180X o . . . o . . . .
7 0kw MF180X o . . . o . o . o
MF220X o o . . . . o
11.0KW MF180X o . . . o . o o
MF220X o o . . .
13.0KW MF220X o o . .
15.0KW MF220X o o o .

&

SRR Z s

2. LRI TH

R SRR

3. BFRARFIH 2 BEREL, A R Z A 0L TR .




ME-X BB LA B

A BTG REA T

2 B-Bm B_gr B=gK
ks WILE R R

MF60X 457,10 : 345,710 : 3,45,7,10
MF90X 457,10 4,5,7,10 4,5,7,10

MF120X 3,45,7,10 : 3,4,5,7,10 : 3,4,5,7,10

3,45,6,7,9,

MF150X 1012 457,10 4,5,7,10

MF180X 3,45,7,10 : 3,45,7,10 : 3,4,5,7,10
MF220X 5,10 345 34,5

—BEURERLL(LD) = 55— RRifkethds
RSB (L2) = BB BRIGHELLE BB BRI REELEL

ZEGUREREL(L3) = SE—REiettli S Bbfebbi 5 =Bkt

il —BEUREREE(LL) 5:1 = $—FRiG5eEES = 5 th
FUREREE(L2) 50:1 =

e

Bil. =BEUREEL (L3) 500:1 = S—BEfeELS x SEERREELE10 x 55
ZERREEEEL0 = 500 tE

BAMMBRE :
ME-X SARAAE
M L-livd 224 AAzEEY MF60 MF90 MF120 = MF150 = MF180 = MF220
3 — — 235 500 1,000 —
4 35 136 225 580 1,090 —
5 42 152 256 660 1,215 2,000
n 6 — — — 610 1,200 —
7 46 136 306 540 1,135 —
8 — — — — — —
9 — — — 458 — —
10 25 94 225 460 935 1,500
15 35 — 210 500 1,000 —
20 35 142 285 530 1,090 —
BUEMLHRE Nm 25 42 158 320 660 1,215 2,000
30 — — 308 610 1,200 —
35 42 136 306 540 1,135 —
40 25 118 252 530 1,090 —
L2 45 — — — 660 — —
50 25 156 320 660 1,215 1,500
60 — — — 610 1,200 —
70 46 135 306 540 1,135 —
80 — — — — — —
90 — — — 472 = =
100 25 94 225 460 935 1,500
S EnsE Nm L1L2 3~100 SfEERE HHE
WEMARE R rpm L1L2 3-100 3,000 3,000 2,500 2,500 2,500 2,000
BAMAR R rpm L1L2 3-100 6,000 6,000 5,000 5,000 5,000 4,000
— : L1 3-10 <10 <10 <10 <8 <8 <8
AR aremin L2 15~100 <15 <15 <15 <12 <12 <12
RN Nm/arcmin: 11,2 3-100 6 12 25 51 142 215
BYEES N L1L2 3-100 1,200 2,500 5,600 9,000 14,200 48,000
posis: =il N LiL2 3-100 600 1,250 2,800 4,500 7,100 24,000
S p{dE R hr L1L2 3-100 20,000
L1 3-10 298%
SRR % L2 15~100 295%
- L1 3-10 0.98 238 8.37 15.96 2855 56
L2 15~100 1.27 3.65 10.35 20.79 36.38 725
e L1,L2 3~100 -10°C ~ +90°C
L1L2 3-100 EESOSOMITRRE
L1,L2 3-100 E=cvali]
<68 <68




‘ &
E ol i ‘} g
g — — — —
¢ 1T 18
4 |- |
- -~
B 2
§ L3 L1t ¢t 3
oL 5 L2 L8 cs
9
#03(h6, #D3(h6,
I
H1 :51 IL10| 10
Shaft Option 1(K) Shaft Option 2(S)
(BAfi:mm)
= MFG0X-L1 MF90X-L1 MF120X-L1 MF150X-L1 MF180X-L1 MF220X-L1
HAES
D1 BAE 70 100 145 165 215 250
=523
HAES
D2 RAEE 55 6.5 8.8 105 13 17
D3 Hjﬂélﬁﬁ 16 22 32 38 50 75
A3
M BagE 50 80 110 130 160 180
F:2
TR
D5 HAg 17 25 35 40 60 80
LA i
D6 Eﬁﬁﬁ M5x0.8P M6x1.0P M8x1.25P M12x1.75P M12x1.75P M20x2.5P
Hik
iDL 1|
D7 @ﬁﬁﬁ 80 118 160 190 245 292
L1 Hjj:’{fﬁl 60 86 120 142 182 220
LA i
12 &S 33 46 69.5 75 95 123
HEE
A3
L3 gﬂ-‘% 5 5 10 4 10 15
3
AR
14 @EE 1.5 1 0.5 3 2 3
L5 QE&E 20 25 40 45 70 90
T HRE
L6 mE 3 3 3 5 6 7
(R
18 z{:ﬁ;{gg 43 53.5 70.5 90 109 136.5
AT
L10 [ 22 12 15 20 32 42 52
KE
HAES
L11 EME 6.5 7 15 15 26 35
Adphe
Cl Eﬁ}[ﬁ‘j 70 90 145 200 200 235
R
AdpE
c2 Rﬁ}[}:ﬂ M5x0.8P M5x0.8P M8x1.25P M12x1.75P M12x1.75P M12x1.75P
B
c3 E"ﬁ%mﬁ 6~14 14~19 16~24 19~-35 19~42 35~55
c4 %}%ﬂﬂ& 31 40 62 80 80 125
kA
c5 FICIY 50 70 110 114.3 114.3 200
HE
kAR
6 G 35 5 7 6 10 10
i
Ak
C7 }Zlﬁ 60 86 120 176 182 220
Ak
8 oy 37 495 77 98 100 148
c9 ﬁ%‘fﬁ 113 149 217 263 304 407.5
BETLE
C10 ‘E‘E 12 15 36.5 47 335 42
AdpEE
C11 EmeEE 80 118 160 230 230 292
#
-0.01 -0.01 -0.02 -0.02 -0.02 -0.02
Bl ﬁﬁmg 5 -0.03 6 -0.03 0 -0.05 o -0.05 1 -0.06 2 -0.07
B8+
H1 EE‘EE 18 245 35 41 53.5 79.5
1. Cl-C6 WARHRAE DR R T, R R AR DA .




MF220%-L2 |

R MF60X-12 MF90X-L2 MF120X-L2 MF150X-L2 MF180X-L2
Hy
Dl R 70 100 145 165 215 250
HE
Hh%S
D02 PR 55 65 8.8 105 13 17
D3 Hﬂgﬂﬁ 16 22 32 38 50 75
Hozs|
™ Exry 50 80 110 130 160 180
3
H TR
D5 HAR 17 25 35 40 60 80
HA B
D6 EELA, M5x0.8P M6x1.0P M8x1.25P M12x1.75P M12x1.75P M20x2.5P
g
W
D7 HAEE 80 118 160 190 245 292
L1 Hjﬂlf.ﬁz 60 86 120 142 182 220
gl
2 e ] 33 46 69.5 75 95 123
=R
Hh=Es|
L3 B 5 5 10 4 10 15
)i-4
AR
“ HaE 15 1 05 3 2 3
L5 aEEE 20 25 40 5 70 %0
Ho i
L6 EE g 3 3 3 5 6 7
R E] B
18 FEKE 43 535 705 ) 109 136.5
o
Li0 [ A 12 15 20 32 42 52
Hh%S
L1 g 65 7 15 15 26 35
L12 :_%g* 16 245 27.2 46 515 56
R
cl WA 70 % 145 200 200 235
Rz
AdpEE
@ [0 M5x0.8P M5x0.8P M8x1.25P M12x1.75P M12x1.75P M12x1.75P
#®
) g’%mﬁ 6~14 14~19 16~24 19-35 19~42 35-55
c4 57%“”: 31 40 62 80 80 125
ORAS
(] E{CAE 3 50 70 110 1143 114.3 200
HEZ
ORAS
6 25 35 5 7 6 10 10
i
ALpEE
7 A 60 86 120 176 182 220
AEZ
c8 A 37 495 77 98 100 148
9 ﬁfﬁéﬁé 129 1735 244.2 309 355.5 463.5
R
c10 T 12 15 365 47 335 42
c11 @Jm‘ﬁg 80 118 160 230 230 292
i3
-0.01 -0.01 -0.02 -0.02 -0.02 -0.02
Bl S : -0.03 . -0.03 o -0.05 o -0.05 o -0.06 - -0.07
H R
hiil Py 18 245 35 2 535 795
1. C1~C6 HARWRETAERHER T , RO RBE AR DATRE.




